oopoooo I oooo gb200 60 260

Jooono 20000

goooboooboboobobooboobobobooboboboooobooboooo
gboooboooboooboobobooboon

. 0oooooooooo

A. 000000
1.000000
a. Jgoooboooooooooog
b.0OOOOO0ODOOOOOODOCOOOODOOOOOOOOm
2.000000
a. Joooboobooooboobooobooboo
b.0OOOOODOOOOOODOOOODOOOOOO

B. 0000000 — 200000000
1.000 pi+p.=MCO p0p, 00000000 10002000000
2.000 plszZMC

II. 0Doooooooooooog

A. OO
lL.obgbbooobooboobooboobobobooboboobooobo
2.00000000000D00DOO0DODOODODDOODOOODOO0ODOOm

B.OOO

1.00000D0LindablD 00 — OO0OO0O0OO0OOCODOODOOOODOO
a. oo0ooboooboooobooboooboo
b.0OOOO
()OoooOoooUOo0oDoDoOoOoooOOoooo
(2)0000000000000000O0 freerider 0000

2000000 —0ODOOO0ODOODODOOn
a. 0googoo
b.O0O

ooon

oooobo ngoo oo



